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TCP/IP

HTTP

Telnet

Packet Switching

Ethernet

brouter

uTe

100BaseTX

ATM
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a. Word Processor : Desktop Publishing
b. dBase : Relational Database
¢. Repeater : Bridge
d. Bit-mapped Graphics : Object Graphics
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5=~ Answer correct “key word™ for the following questions. (15%)

1. “Most larger computer systems are capable of running many programs
concurrently. * ¥hat do we call this technique?

2. What component of system software spec1f1cally refers to the
following task: “Allocating memory to programs.’

3. ¥hat do we call the type of processing whereby multiple CPUs
optimize the handling of programs?

4, Name the concept that enables the computer system to operate as
if it has more main memory than it actually does. (Disk storage
holds the very large program, and modules are swapped to main
memory for execution;) X
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5. What do we call the attribute in one relation that is required to
match ihe primary key of another relation?
6. What does MIPS measure?
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2. Knowledge Base $ Database #97 FlXs 7 (3%)

3. CROCHARAXBIGTRAB? (3%).
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- Fritea functmn fdentz tyﬂa trix{size) that dynammall){ allocates,
initializes, and returns an identity matrix of the correct size. The
prototype for:the function is '
double” “**ldentityMatrix(int size) .

You can ignore the error checking in thlS case. {(6%)
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